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Codificadores

Tipos:
Con prioridad
Sin Prioridad
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Demultiplexores



Decodificadores

Sólo una salida activa a la vez



D
ob

le
 d

ec
od

if
ic

ad
or

/d
em

ul
tip

le
xo

r 
2 

a 
4 

74
13

9



Decodificador/demultiplexor 3 a 8 74138



A
ct

iv
a 

va
ri

as
 s

al
id

as
 a

 la
 v

ez
E

nt
re

ga
 c

or
ri

en
te

 p
ar

a 
ex

ci
ta

r 
lo

s 
le

d
C

át
od

o 
co

m
ún

: s
al

id
as

 a
ct

iv
as

 a
 n

iv
el

 a
lt

o
Á

no
do

 c
om

ún
: s

al
id

as
 a

ct
iv

as
 a

 n
iv

el
 b

aj
o

D
ec

od
if

ic
ad

or
es

−
ex

ci
ta

do
re

s 
B

C
D

−
7 

se
gm

en
to

s



A3..A0Funcionamiento

XH (salida)

XXL (entrada)Se apagan todos

HLL (salida)LLLLSe apagan todos

HXH (salida)Normal

HHH (salida)LLLLAparece el 0

LTRBIBI/RBO

LTIndif
Se encienden 

todos

Indif

Cualquiera 
menos LLLL

LT=LAMP TEST
RBI=RIPPLE BLANKING INPUT
BI/RBO=BLANKING INPUT/RIPPLE BLANKING OUTPUT
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